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1. Which of the following illustrates the government having no power to tax?  

· could not regulate commerce

· no common currency

· no way to provide services for citizens

· laws could not be enforced

2. Which branches were missing under the Articles of Confederation?

· legislative and executive

· judicial and executive

· legislative and judicial

· none, all branches were involved

---------------------------------------

1. no way to provide services for citizens
2. judicial and executive
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